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®S=(r-anr @ S =(@+rn
® S =a(r+3a)r @S =ala+2r)n

® S=(a+r)a-rn
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S =(a+r)n-rin
=r{(a+r)?-r?
=nla+r+r)at+r-r)
= an(2r + a)
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ab—-6a+5b—-48 =0
b(a+5)—6a—48 =0
b(a+5)-6(a+5)-18=0
(a+5)(b-6) =18
a>0,b>00°2E g4+5>5
(i)a+5=18,b-6=1

a=13,b=7
(i)a+5=9,b-6=2

a=4,b=28
(i)a+5=6,b-6=3

a=1,b=9
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@ ab+b-a-1=(a+1)(1-b)

@ 2-a-2b+ab=(1-b)(2+a)

@ -y +2x+2y=(x-y)(x-y+2)
@x3+x2+x—|—1:(x2+1)(x+1)
@xy-1-20-1) = -2 -1




38. a+b=2°]1,a(a-1)-b(b+1) =6 L W, a-b 9] F2 F5IH?

@ 2 @4 ® 6 @ 11 ® 16
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a?-a-b>-b=6
(a+b)(a-b)—(a+b)=6
(a+b)a-b-1)=6
a-b-1=3

w2t @ - b = 4 o]t}
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@ x+3

4+ xy—x—-y2ax+ay+ bx+ by 9

@ x-1 ® a+b @x+y

® x+b

~&B

Rtxy—x-y=x(x+y) - (x+y)

=(x+y)(x-1)

ax+ay+bx+by =a(x+y)+bx+y)

= (x+y)(a+b)




